{' OPTIM ZI NG_RESOLUTI ON_X': 16,
" OPTI M ZI NG_RESCLUTI ONLY' : 16,
" OPTIM ZI NG_RESCLUTION_Z' : 8,
" RESOLUTI ON_DPI ' :  406. 4,

RESOLUTI ON_DPI _XY" : 152. 39999999999998,

Back

‘cmd line': 'experinments/test_thin_optimzation.py --config '

'..lexperiments/test_thin_optimzation_config_siggraph.yn
'../experinents/siggraph_subnission/ --threads 3',
' col orspace': 'lab',
' edge_boosting': 1.0,
"exists': 'skip',
'git revision': '3183bd5',
" hal ftoni ng_voxel _si ze': None,
"initialization': 'enbedded_cross',
‘lab_weights': [1.0, 1.0, 1.0],
' one_channel ' : Fal se,
"optimzation_method' : "trf',
‘optimzation_node': 'full"',
"output_dir': '../experinments/siggraph_subm ssion/col or HVedge_enbedded_cross_0.5_EB1. 0_Lab',
' paddi ng': 'edge',
‘sanples': 512,
'skip_halftoning': True,
"target': 'experinents/16x16x2-patch-5.png',
"thickness': 0.5}
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{'cost': 76531184326.55412,
'message': ' “xtol®
‘nfev': 53,
‘njev': 27,
‘optimality': 272259.88550572953,

‘status': 3,

'success':

True}

r
-

!.ﬁ.
! &L
EL

[

SSIM front: 0.590 SSIM back

SSIM front: 0.588 SSIM back

SSIM front: 0.589 SSIM back

SSIM front: 0.589 SSIM back

SSIM front: 0.586 SSIM back

SSIM front: 0.594 SSIM back

SSIM front: 0.592 SSIM back

SSIM front: 0.594 SSIM back

termnation condition is satisfied."',

: 0.552

: 0.562

:0.561

: 0.569

: 0.560

: 0.562

: 0.560

: 0.566



